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@ sin 90° = cos 90° = tan 90°
@ sin 30° = cos 60° = tan 45°
® sin90° = cos 0° = tan 90°

@sin 90° 4 cos 90° + tan 45° = 2

®)cos 0° + tan 0° = sin 90°

B

@ sin90° = 1,cos90° = 0, tan 90° = AT o FUr}.
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@ sin30° = 7.cos60° = o tand5® = 1 OJH2 sin30° =

cos 60° # tan 45°

@ sin90° = 1,cos0° = 1, tan 90° = ASF 4= gith

@ sin90° = 1,c0890° = 0,tan45° =1 0|22 1+ 0+ 1 =2
® cos0° =1,tan0° = 0,sin90° = 1 | B2 14+ 0 =1
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® 8cm @ 10cm ® 16cm
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sin 30°

- AB = 32(cm)

=32




o2 2 HEFHA Qo vtz 5] dolrt 1 9l AUy Y9-8
A= A4 1, m & 29 Aok, AA [, m o] x 3 o] F= o7+
3715 747+ A, B & & 1, o3 5 AL Ao o2 shu=?
yA m
Ysp - - - - - -~
Yol oo - :
1 Y
]
ys ————— —:—I— l
Yot - - - N7
ANl
A\ :
N
O xl le x3 :E
D y2 + 2 @mx§ ® y2 + 22
3
O I RN
X1 Y4

B ~

SinA = y1, CosA = xo

sinB =y3, cosB = x;

tanA = y—l, 2, 73
X2 X3
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@ sin® A + cos?A =1

tan B =

@ tanA x =1

tan A
@ sin?B+cos?B=1
@ tan B x tanA # 1

1
® tan B x =1
tan B
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® 1.40 @ 1.96 ® 2.09 @2.34 ® 2.46

cos 35° 4 tan 35° + sin 55° = 0.82 + 0.70 4- 0.82 = 2.34
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2sin45°cos45° + cos 30 °sin 30° 2] 22
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@ tanx

sin x = cosy = BC
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Che 152 3 PAA ABCD oA A
AB = 6cm , BC = 10em , /BCD = ,/
o o] AC O] Zlol=9 6cm
120° & wj, AC 2] Zo]&=1 : 190°
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@S:§X4X3=6
1
@S:§X4X3=6
1 V3
@ 5 X6x4x <
V3

1
S =—-
® 2><5><5><2

6 V3 = 10.392

%ﬁ = 10.825
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@ 16 V2 cm? @ 16 V3 cm? @ 18cm?
@ 18v2cm? @18\/5(:1112

1
(dol) = 5 X 6x12xsin60°
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14. A+B=90° (%, A>0°B>0°)< o, ot

@ sin (90°—A) = cosA
@SinA xXcosB=1
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@ sin?A=1-cos?A

@ tanA xtanB =1
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@ sin(90° - A) = sin B = - = cos A>
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. sin(90°—A) = cos A

= () +(;
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. sinAXcosB # 1
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@ tanA X tan B = =
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a
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